HHE @ 2021.12.4 15:44

1 2 A E LB

BEMEAE A B :20214E12 04 H (1)

v R 1.0 RN T HEME36.0 01360 LA —/: OUT2 3 4 5 6 8
IN10 12 13 14 15 17
B A YT AaAT v b oiX— 3
il =—=2  :0UT IN ZINNE CBME9S N et N AEFI00A
NEN PE ST v ko
EGL | N K4 OUT IN |GROSS| HDCP | NET | crosshf: % BT | BInFE K4 OUT IN | GROSS| HDCP | NET |crosshsif: e

13N RE 44 38 82/ 12.0 |70.0 518y AT 54 53| 107/ 31.2 | 75.8
2\ BZHE Pl 39 46 85| 14.4 [70.6 524 e 43 46 89/ 13.2 |75.8
3| KEE BIE 42 42 84| 13.2 70.8 53l R 50 44 94/ 18.0 |76.0
4|FFH R— 40 38 78| 7.2 170.8 54| TRE Fid 46 48 94| 18.0 | 76.0
5% 1% 40 43 83/12.0 | 71.0 55 %21 B 47 47 94| 18.0 | 76.0
6| HH JafE 44 43 87/ 15.6 |71.4 56| 3 B 47 47 94/ 18.0 |76.0
T 2£)FE = 37 37 74 2.4 |71.6 57K B 42 39 81| 4.8 |76.2
8 ik 39 39 78/ 6.0 |72.0 58 KR HJII T 42 51 93/ 16.8 | 76.2
9| FE M = 45 39 84/12.0 [ 72.0 59| H A KAt 42 44 86| 9.6 | 76.4
10|27k F= 43 40 83/10.8 | 72.2 60 &2 EFn 45 47 92/ 15.6 | 76.4
11ER &E 40 42 82| 9.6 |72.4 61|4EME HI% 49 49 98/21.6 | 76.4
12/ 85K R 45 42 87/14.4 | 72.6 62| P& 41 44 85| 8.4 |76.6
13| P = 45 42 87/ 14.4 | 72.6 63/ fik— 38 41 79| 2.4 /76.6
148810 =i 45 41 86| 13.2 | 72.8 64 |(FHEE B 45 46 91)14.4 |76.6
15| FH & 42 44 86| 13.2 | 72.8 65| HFH 5B 40 45 85| 8.4 |76.6
16|80 FERk 45 46 91]18.0 | 73.0 66 g0 AR £IE 48 43 91| 14.4 | 76.6
17 &) 67 39 40 79/ 6.0 |73.0 67|88 F5HH 46 45 91)14.4 |76.6
181k RY 42 43 85/12.0 | 73.0 68| RE = 49 47 96/ 19.2 |76.8
19| KE & 44 39 83| 9.6 |73.4 69| K17 R 48 48 96/ 19.2 | 76.8
201 —h, 40 43 83] 9.6 |73.4 T0/85K K 52 42 94| 16.8 | 77.2
21| HPT sEiE 43 40 83| 9.6 |73.4 T1EBA N 47 41 88/10.8 | 77.2
22\ Wi 42 40 82| 8.4 |73.6 72| 2% 5% 48 46 94| 16.8 | 77.2
PRYE ¢ 44 38 82| 8.4 |73.6 73Tk 5 42 45 87| 9.6 |77.4
24| KK HEIL 38 38 76| 2.4 [73.6 T4|EA EF] 44 43 87| 9.6 |77.4
25 | FkK 1L 225 40 48 88| 14.4 |73.6 75 HNE R 48 45 93| 15.6 | 77.4
26| & FH B 45 42 87/13.2 | 73.8 76| TR HLA 43 44 87| 9.6 |77.4
27 kgl 5K 43 44 87| 13.2 | 73.8 TR BT 48 44 92 14.4 | 77.6
28|f@JIl IE 41 39 80| 6.0 |74.0 T8/hE B 49 43 92| 14.4 [77.6
29 A oK 43 43 86| 12.0 | 74.0 79 HH #iE 50 54| 104/ 26.4 | 77.6
30| FaAT D 45 40 85| 10.8 | 74.2 8053 &k 40 45 85| 7.2 |77.8
31| B At 44 41 85/10.8 | 74.2 814! 1 50 47 97/19.2 1 77.8
32 HHR 47 44 91]16.8 | 74.2 82| Vi E% 52 49| 101]22.8 |78.2
33K B 45 40 85/10.8 | 74.2 83| 1L+ =AHE 44 48 92/ 13.2 |78.8
34|THA IEAD 40 44 84| 9.6 |74.4 84/7EH =% 52 52| 104|25.2 |78.8
35| _EHy FnH 47 43 90| 15.6 | 74.4 85| AR ZAL 52 50/ 102]22.8 |79.2
36 | INEk KEE 41 42 83| 8.4 |74.6 86 |1EA F5HI 48 47 95| 15.6 | 79.4
37 |fEIRF 55— 45 44 89| 14.4 |74.6 87 |5 F1T 44 44 88| 8.4 [79.6
38| MEEIN [Himk 42 40 82| 7.2 ]74.8 88 |ZH HiLY 48 52/ 100]20.4 | 79.6
9| AR HET 39 43 82| 7.2 |74.8 89 |I%F =1 47 47 94| 14.4 | 79.6
40 B9 F 5 48 45 93/ 18.0 | 75.0 90 | 5K Bk 47 52 99/ 19.2 | 79.8
41 1 BER sER 43 38 81| 6.0 |75.0 91|&=)Il B 50 42 92/ 12.0 180.0
42 |f5 2 TEA 50 54| 104]/28.8 | 75.2 92| IAK EiR 48 50 98/ 18.0 |80.0
43|87 H IE5A 45 40 85| 9.6 | 75.4 93| ILUA HEHE 54 50/ 104|24.0 |80.0
44 )1 S 48 49 97(21.6 | 75.4 94|H 5 & 46 52 98] 16.8 |81.2
45 | Fngk 38 40 78| 2.4 |75.6 95 /N Tk 57 53| 110/28.8 |81.2
46 | F3E BRI 45 45 90| 14.4 | 75.6 96 |2TRE fAth 52 47 99/ 16.8 |82.2
471 E IERS 39 45 84| 8.4 |75.6 97 K Fnik 53 51| 104/21.6 |82.4
48|71k T 43 47 90| 14.4 | 75.6 98| EH EH & 52 56/ 108]25.2 |82.8
49 IR F#E 46 50 96/20.4 | 75.6 99| ik B 60 53| 113/27.6 |85.4
50 BRI Bk 47 42 89/13.2 | 75.8 100 |5i/E £+ 56 63| 119]30.0 0

89.
>

1/ 1 HLENRRAET LB



